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E5
7T =17 F 7T = o e
"
100cm 1cm 1cm 100cm 1cm 1cm

A-1 1.00 0.93 15 0.75 0.48 0.5
A-2 0.76 0.92 3.0 0.40 0.50 2.1
A-3 1.04 1.84 2.4 0.45 0.51 1.1
A-4 1.03 1.36 3.4 0.48 0.57 1.2
A-5 0.99 1.07 2.2 0.61 0.65 1.1
A-6 [VTSH) 1.35 0.56 0.55 1.0
A-7 0.89 0.81 1.1 0.58 0.46 0.8
A-8 0.98 1.00 2.3 0.61 0.50 0.6
B-1 0.87 119 3.0 0.60 0.50 0.7
B-2 0.74 1.09 2.9 0.46 0.62 1.2
B-3 0.83 1.09 3.7 0.47 0.58 1.2
B-4 0.77 0.86 1.7 0.48 0.56 1.0
B-5 0.78 0.67 1.0 0.45 0.36 0.4
B-6 0.87 113 3.4 0.47 0.58 1.3
B-7 0.80 0.93 2.7 0.49 0.59 1.0
B-8 0.88 1.06 2.4 0.59 0.66 0.8
c-1 0.83 1.13 2.8 0.46 0.40 0.5
C-2 0.75 1.18 2.2 0.47 0.60 1.0
c-3 0.75 0.95 0.8 0.48 0.52 1.0
C-4 0.69 0.81 14 0.48 0.59 0.8
C-5 0.65 0.84 12 0.45 0.52 0.8
C-6 0.47 0.40 0.8 0.33 0.26 0.4
C-7 0.64 0.83 16 0.49 0.62 0.8
c-8 0.75 0.97 2.3 0.51 0.49 0.5
c-9 0.74 113 3.0 0.50 0.56 1.3
D-1 0.84 1.04 2.7 - KB BITEAA]
D-2 0.75 1.06 2.7 0.52 0.68 1.1
D-3 0.71 0.96 12 0.48 0.65 15
D-4 0.56 0.46 0.7 0.43 0.33 0.4
D-7 0.79 1.07 1.9 0.49 0.68 1.3
D-8 0.66 0.81 15 0.46 0.62 1.0
D-9 0.76 1.49 2.1 0.57 1.29 16
D-10 0.72 1.13 3.3 0.43 0.66 1.3
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E5
7T =17 F i 7T = o e
"
100cm 1cm 1cm 100cm 1cm 1cm
D-5 0.41 0.53 1.1
D-6 0.37 0.36 0.5
E-1 0.83 1.26 3.3 0.53 0.53 1.0
E-2 0.72 0.98 2.2 0.50 0.58 0.9
E-3 0.66 0.94 2.1 0.48 0.68 1.3
E-8 0.66 117 2.2 - TIL——MBIEA|]
E-9 0.68 1.03 2.4 0.59 0.84 16
E-10 0.43 0.63 1.2
F-1 0.70 0.76 18 0.46 0.49 0.9
F-2 0.68 0.95 2.1 0.44 0.63 1.2
F-9 0.56 0.92 2.1 0.44 0.65 16
G-9 0.72 1.08 2.9 0.52 0.52 0.8
H[E-1 0.45 0.35 0.5 0.35 0.32 0.3
HE-2 0.57 0.55 0.7 0.37 0.37 0.3
H[E-3 0.45 0.45 0.5 0.34 0.33 0.4
HE-4 0.40 0.42 0.6 0.32 0.33 0.3
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ATr&1pg
SHAIS AT sHAIA & B [ZES0) Mgtk =
1-0 TRIBEE 1m U Sv/h 0.20 0.19
a TR EE 1om 4 Sv/h 0.22 0.20
AR REZEE 1cm cpm 376
- aYA—4A cpm
1-0 TRIBEE 1m U Sv/h 0.23 0.21
b TR EE 1om U Sv/h 0.25 0.21
ARE XEZE 1cm cpm 440
- aYA—4A cpm
1-1 THBEE Im EX.QO.® 0.11
a TR EE 1om U Sv/h 0.11 0.11
Y. ﬁljﬁfj:fi 1cm cpm 120
- — cpm
1-1 TRIBEE 1m £ Sv/h 0.17 0.14
b TR EE 1om U Sv/h 0.10 0.12
Y. ﬁljﬁfj:fi 1ecm cpm 190
- — cpm
1-2 TRIBEE 1m U Sv/h 0.11 0.10
a TR EE 1om U Sv/h 0.13 0.11
KFERE REZEE 1cm cpm 233
aYA—4A cpm
1-2 TRIBEE 1m U Sv/h 0.11 0.13
b TR EE 1om U Sv/h 0.10 0.10
HFERE KREZE 1cm cpm 107
aYA—4A cpm
1-3 TRIBEE 1m U Sv/h 0.11 0.13
a TR EE 1om U Sv/h 0.13 0.14
5o REZE 1cm cpm 195
Li=RZ7]
aYA—4A cpm
R-1 TRIBEE 1m U Sv/h 0.13 0.11
a TR EE 1om U Sv/h 0.15 0.11
s XEZE 1cm cpm 197
aYA—42 cpm
1-4 TRIBEE 1m U Sv/h 0.11 0.11
a TR EE 1om U Sv/h 0.13 0.14
wE KEAZEE 1cm cpm 233
1=
aYA—42 cpm
1-5 TRIBEE 1m U Sv/h 0.17 0.17
a TR EE 1om LU Sv/h 0.20 0.20
) REZEE 1cm cpm 485
BEWE
aYA—42 cpm
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ATr&1pg
SHAIS AT sHAIA & B [ZES0) Mgtk e
1-5 TRIBEE 1m U Sv/h 0.38 0.26
b TR EE 1om U Sv/h 0.35 0.28
T REAZEE 1cm cpm 620
aYA—4A cpm
1-6 TRIBEE 1m U Sv/h 0.15 0.13
a TR EE 1om 4 Sv/h 0.13 0.13
BrERE REAZEE 1cm cpm 214
aYA—4A cpm
1-6 TRIBEE 1m £ Sv/h 0.28 0.19
b ZRIBEE 1om LU Sv/h 0.15 0.15
BrERE KREZE 1cm cpm 210
aYA—4A cpm
1-7 TRIBEE 1m U Sv/h 0.15 0.16
a TR EE 1om U Sv/h 0.15 0.15
2
ERETY7 %ﬁ“r’; fom opm 167
- — cpm
1-7 TRIBEE 1m U Sv/h 0.21 0.17
b TR EE 1om U Sv/h 0.17 0.16
2
ERBIUT %ﬁ“r’; lom | cpm 30
- — cpm
1-8 TRIBEE 1m U Sv/h 0.17 0.15
a TR EE 1om U Sv/h 0.16 0.15
2
HEBTyF RKEAZEE 1cm cpm 169
O A—4 cpm 160 90
1-8 TRIBEE 1m U Sv/h 0.12 0.16
b TR EE 1om U Sv/h 0.12 0.14
A
GERE=TyF FEEE 1cm cpm 145
O A—4 cpm 130 100
1-9 TRIBEE 1m U Sv/h 0.17 0.16
a TR EE 1om U Sv/h 0.16 0.14
= 169
TobSyRA— L [FRRE Tom opm
) A—4 cpm 80 74
1-9 TRIBEE 1m U Sv/h 0.34 0.18
b ZRIBEE 1om U Sv/h 0.15 0.17
= 143
TobSyRA— L [FREE Tom opm
aYA—42 cpm
R-2 TRIBEE 1m U Sv/h 0.13 0.14
a TR EE 1om U Sv/h 0.13 0.14
B XEZE 1cm cpm 157

aYr—4

cpm
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AT&E1RE
SRS AR SRl % Bify BT BRsts HE
R-3 ERREER Im 1 Sv/h 0.13 0.13
a ZERREE 1om 1 Sv/h 0.14 0.15
B KEZE 1cm cpm 163
aYA—4A cpm
R-4 ERREER Im U Sv/h 0.12 0.13
a EREREER 1om 1 Sv/h 0.12 0.13
B KEZE 1cm cpm 143
aYA—4A cpm
R-5 ERREER Im U Sv/h 0.13 0.15
a EREREE 1om 1 Sv/h 0.16 0.15
B KEZE 1cm cpm 237
aYA—4A cpm
1-10 ERIREE Im 1 Sv/h 0.14 0.16
a ZEREREE 1om 1 Sv/h 0.14 0.15
TR KEZE 1cm cpm 186
aYA—4A cpm
1-10 ERREER Im U Sv/h 0.34 0.40
b ERREER 1om 1 Sv/h 0.15 0.14
5 T AR REZEE 1cm cpm 143
aYA—42 cpm
1-11 ERREER 1m U Sv/h 0.20 0.19
a EREREE 1om 1 Sv/h 0.17 0.18
- RKEAZEE 1cm cpm 163
aYA—42 cpm
1-11 ERREER Im 1 Sv/h 0.12 0.20
b EREREER 1om 1 Sv/h 0.12 0.19
- KEAZEE 1cm cpm 145
aYA—42 cpm
1-12 ERREE Im U Sv/h 0.13 0.15
a ZERREE 1om 1 Sv/h 0.15 0.14
BB KEAZEE 1cm cpm 273
aYA—42 cpm
1-13 ERREER Im U Sv/h 0.15 0.15
a ZERREE 1om 1 Sv/h 0.15 0.15
o KEAZEE 1cm cpm 228
aYA—42 cpm
1-13 ERREER 1m 1 Sv/h 0.16 0.18
b ERREER 1om 1 Sv/h 0.15 0.14
o KEZE 1cm cpm 315

aYr—4

cpm
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ATr&1pg
SHAIS AT sHAIA & B [ZES0) Mgtk e
1-14 TRIBEE 1m U Sv/h 0.17 0.17
a TR EE 1om 1 Sv/h 0.15 0.15
I REAZEE 1cm cpm 237
BEE
Oy A—~A cpm
1-14 TRIBEE 1m £ Sv/h 0.30 0.25
b TR EE 1om LU Sv/h 0.17 0.17
o REZE 1cm cpm 251
BEE
Oy A—A cpm
1-15 TRIBEE 1m U Sv/h 0.15 0.15
a TR EE 1om U Sv/h 0.16 0.18
_ XEZE 1cm cpm 307
LR E m= P
aYyA—~A cpm
1-15 TRIBEE 1m U Sv/h 0.17 0.17
b TR EE 1om U Sv/h 0.18 0.22
_ XEZE 1cm cpm 295
L FE m= P
OYYyA—~A cpm
K-1 TRIBEE 1m U Sv/h 0.14 0.16
a TR EE 1om U Sv/h 0.12 0.13
— REZE 1cm cpm 163
iSE = P
aYyA—A cpm
K-1 TRIBEE 1m U Sv/h 0.19 0.20
b TR EE 1om U Sv/h 0.17 0.17
- REZE 1cm cpm 285
HiE = P

aYr—4

cpm
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RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

AT&E2p
SRS AR SRl % Bify BT BRsts HE
2-1 ERREER 1m 1 Sv/h 0.15 0.13
a ZEREREE 1om 1 Sv/h 0.15 0.13
EVik—L FEZEE 1cm cpm 240
aYrA—4 cpm 110 80
2-1 ERREER 1m U Sv/h 0.16 0.17
b EREREE 1om 1 Sv/h 0.15 0.14
EVR—IL REAZEE 1cm cpm 221
aYYyA—~A cpm 100
2-2 FRFEE Im  RIE.Q.0® 0.13
a EREREER 1om 1 Sv/h 0.12 0.13
FokEEE KEZE 1cm cpm 240
aYA—4A cpm
2-2 ERREER 1m U Sv/h 0.16 0.11
b ERREE 1om 1 Sv/h 0.15 0.13
FokEEE REAZEE 1cm cpm 221
aYA—4A cpm
2-3 ERREER Im U Sv/h 0.14 0.13
a ZEREIREER 1om 1 Sv/h 0.15 0.14
AEI0E KREZE 1cm cpm 193
aYA—4A cpm
2-3 ERIREER Im 1 Sv/h 0.17 0.15
b ZERREER 1om 1 Sv/h 0.17 0.15
AEI0E KREZE 1cm cpm 193
aYA—4A cpm
2-4 ERREER 1m 1 Sv/h 0.14 0.13
a ZERREER 1om 1 Sv/h 0.14 0.11
e KEZE 1cm cpm 278
aYA—4A cpm
2-5 ERREER 1m 1 Sv/h 0.14 0.12
a ZERREER 1om 1 Sv/h 0.13 0.12
SIS KEZE 1cm cpm 163
aYA—42 cpm
2-5 ERREER Im 1 Sv/h 0.16 0.13
b ZEREREE 1om 1 Sv/h 0.12 0.12
SIS KEAZEE 1cm cpm 176
aYA—42 cpm
2-6 ERREE Im U Sv/h 0.15 0.13
a ZERREE 1om 1 Sv/h 0.13 0.12
LEETYT REZEE 1cm cpm 155
aYrA—4 cpm 110 160

10
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AT&E2p
SRS AR SRl % Bify BT BRsts &=
2-6 ERREER 1m 1 Sv/h 0.14 0.14
b ZEREREE 1om 1 Sv/h 0.14 0.13
LEETYT REZEE 1cm cpm 155
aYrA—4 cpm 110 200
2-7 ERREER 1m U Sv/h 0.16 0.13
a EREREE 1om 1 Sv/h 0.14 0.13
Ry REAZEE 1cm cpm 163
aYA—4A cpm
2-7 ERREER Im U Sv/h 0.17 0.13
b ERREE 1om 1 Sv/h 0.14 0.13
Ry REAZEE 1cm cpm 163
aYA—4A cpm
2-8 ERREER 1m U Sv/h 0.19 0.16
a EREREE 1om 1 Sv/h 0.17 0.15
ATES KREFEE lcm cpm 160
aYA—4A cpm
2-8 ERREER 1m 1 Sv/h 0.26 0.20
b ZERREER 1om 1 Sv/h 0.18 017
ATE® FEEE 1cm cpm 179
aYA—4A cpm
2-9 ERREER 1m L Sv/h 0.16 0.15
a EREREER 1om 1 Sv/h 0.16 0.14
. KEZE 1cm cpm 159
aYA—42 cpm
2-9 ERREER 1m 1 Sv/h 0.21 0.19
b ZEREREE 1om 1 Sv/h 0.18 017
. KEAZEE 1cm cpm 174
aYA—42 cpm
2-10 ERREER 1m U Sv/h 0.16 0.14
a ZERREE 1om 1 Sv/h 0.18 0.14
i KEZE 1cm cpm 310
aYA—42 cpm
2-10 ERREER Im U Sv/h 0.18 0.17
b EREREE 1om 1 Sv/h 0.18 0.15
i REZE 1cm cpm
aYA—42 cpm
2-11 ERREER 1m U Sv/h 0.16 0.16
a ZERREE 1om 1 Sv/h 0.16 0.14
g REAZEE 1cm cpm 266

aYr—4

cpm

11
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AT&E2p
SRS AR SRl % Bify BT BRsts &=
2-11 ERREER Im 1 Sv/h 0.20 0.19
b EREREER 1om 1 Sv/h 0.17 0.16
mig REAZEE 1cm cpm 385
aYA—4A cpm
2-12 ERREER 1m U Sv/h 0.12 0.12
a EREREER 1om 1 Sv/h 0.14 0.12
pe= REEE 1cm cpm 172
aYA—4A cpm
K-2 ERREER 1m 1 Sv/h 0.12 0.15
a EREREER 1om 1 Sv/h 0.12 0.14
BEEREEIE REAZEE 1cm cpm 125
aYA—4A cpm
2-13 ERREE Im 1 Sv/h 0.14 0.14
a ZERREE 1om 1 Sv/h 0.19 0.16
BRrALE REAZEE 1cm cpm 370
aYA—4A cpm
2-14 ERREER Im 1 Sv/h 0.14 0.15
a ERREE 1om 1 Sv/h 0.17 0.15
tHRERE REAZEE 1cm cpm 267
aYA—4A cpm
2-14 ERREER Im 1 Sv/h 0.18 0.16
b ZEREREE 1om 1 Sv/h 0.19 0.14
T HRARE KEAZEE 1cm cpm 545
aYA—42 cpm
2R-1 ERREER Im U Sv/h 0.16 0.12
a ZEREREE 1om 1 Sv/h 0.16 0.13
FRERMET [Res fom | opm 248
aYA—42 cpm
2R-2 ERIREER Im 1 Sv/h 0.14 0.14
a ZEREREER 1om 1 Sv/h 0.14 0.13
S EEET KEAZEE 1cm cpm 216
aYA—42 cpm
2R-3 ERREER 1m U Sv/h 0.19 0.14
a ZEREREE 1om 1 Sv/h 0.16 0.14
ST KEZE 1cm cpm 286
aYA—42 cpm
2-25 ERREER 1m U Sv/h 0.15 0.16
a ZEREREE 1om 1 Sv/h 0.15 0.16
- KEAZEE 1cm cpm 232
aYA—42 cpm

12




WEE R WET—2 Q@ KTE2MH

RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

AT&E2p
SRS AR SRl % Bify BT BRsts HE
2-25 ERREER Im 1 Sv/h - 0.19
b EREREER 1om 1 Sv/h - 0.18
- KREZE 1cm cpm -
aYA—4A cpm
K-3 ERREER Im U Sv/h 0.14 0.11
a EREREER 1om 1 Sv/h 0.14 0.12
BEER B2 REAZEE 1cm cpm 176
aYA—4A cpm
K-3 ERREER 1m 1 Sv/h 0.17 0.14
b ERREE 1om 1 Sv/h 0.16 0.14
BEER B 1R REAZEE 1cm cpm 227
aYA—4A cpm
2-15 ERREE Im 1 Sv/h 0.19 0.17
a ZERREE 1om 1 Sv/h 0.18 0.16
RS54 KEZE 1cm cpm 330
aYA—4A cpm
2-16 ERREER Im 1 Sv/h 0.18 0.17
a ERREE 1om 1 Sv/h 0.19 0.15
RS54 REAZEE 1cm cpm 480
aYA—4A cpm
2-17 ERREER Im 1 Sv/h 0.23 0.18
a ZEREREER 1om 1 Sv/h 0.23 0.18
RS54 KEAZEE 1cm cpm 350
aYA—42 cpm
2-18 ERREER Im U Sv/h 0.22 0.16
a ZEREREE 1om 1 Sv/h 0.18 0.14
RS54 KEAZEE 1cm cpm 600
aYA—42 cpm
EHREER 1m 1 Sv/h 0.27
a ZEREREER 1om 1 Sv/h 2.30 1.15
I7aveyh a4y |REZEE 1cm cpm 16000
&f aYA—42 cpm
2-19 ERREER Im U Sv/h 0.21 0.14
a ZEREREE 1om 1 Sv/h 0.16 0.12
RS54 KEZE 1cm cpm 270
aYA—42 cpm
2-20 ERREER Im 1 Sv/h 0.19 0.14
a ZEREREE 1om 1 Sv/h 0.15 0.13
RS54 KEZE 1cm cpm 200
aYA—42 cpm

13




WEE R WET—2 Q@ KTE2MH

RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

Ar&2fg
SHAIS AT sHAIA & B [ZES0) Mgtk =
2-21 TRIBEE 1m U Sv/h 0.19 0.19
a TR EE 1om 1 Sv/h 0.16 0.14
. XEZE 1cm cpm 220
RSA
Oy A—~A cpm
2-22 TRIBEE 1m 1 Sv/h 0.17 0.16
a TR EE 1om 4 Sv/h 0.18 0.15
L XEZE 1cm cpm 380
RSA
Oy A—A cpm
2-23 TRIBEE 1m £ Sv/h 0.17 0.15
a TR EE 1om U Sv/h 0.15 0.14
— e REZE 1cm cpm 220
RSUA
aYyA—~A cpm
2-24 TRIBEE 1m 1 Sv/h 0.19 0.17
a TR EE 1om U Sv/h 0.20 0.17
— REEE 1cm cpm 310
RSUA
OYYyA—~A cpm

14
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=30
SRS AR SRl % Bify BT BRsts HE
3-1 ERREER 1m 1 Sv/h 0.24 0.23
a ZEREREE 1om 1 Sv/h 0.20 0.18
EVR—IL KEZE 1cm cpm 194
aYrA—4 cpm 150 150
3-1 ERREER 1m U Sv/h 0.31 0.27
b EREREE 1om 1 Sv/h 0.20 0.28
EVR—IL REAZEE 1cm cpm 213
aYA—4A cpm
3-2 THBREER Im RIF. Q.0 0.15
a EREREER 1om 1 Sv/h 0.16 0.15
- RKEAZEE 1cm cpm 255
aYA—4A cpm
3-2 ERREER 1m U Sv/h 0.17 0.17
b ERREE 1om 1 Sv/h 0.15 0.14
- REAZEE 1cm cpm 188
aYA—4A cpm
3-3 ERREER Im U Sv/h 0.14 0.17
a ZEREIREER 1om 1 Sv/h 0.16 017
e KEAZEE 1cm cpm 196
aYArA—4 cpm 140 145
3-3 ERIREER Im 1 Sv/h 0.20 0.19
b ZERREER 1om 1 Sv/h 0.18 017
e REAZEE 1cm cpm 252
aYA—4A cpm
3-4 ERREER 1m 1 Sv/h 0.15 0.14
a ZERREER 1om 1 Sv/h 0.15 0.15
p— KEZE 1cm cpm 200
aYA—4A cpm
3-4 ERREER 1m 1 Sv/h 0.18 0.18
b ERREE 1om 1 Sv/h 0.15 0.18
p— KEZE 1cm cpm 150
aYA—42 cpm
3-5 ERREER Im 1 Sv/h 0.14 0.12
a ZEREREER 1om 1 Sv/h 0.13 0.13
g KEAZEE 1cm cpm 200
aYA—42 cpm
3-5 ERREE Im U Sv/h 0.16 0.15
b ERREE 1om 1 Sv/h 0.13 0.13
g KEAZEE 1cm cpm 120
aYA—42 cpm
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RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

AT &30
SRS AR SRl % Bify BT BRsts HE
3-6 ERREER 1m 1 Sv/h 0.17 0.15
a ZEREREE 1om 1 Sv/h 0.14 0.13
EHEE KEZE 1cm cpm 120
aYA—4A cpm
3-6 ERREER 1m U Sv/h 0.18 0.17
b EREREE 1om 1 Sv/h 0.14 0.14
EHEE KEZE 1cm cpm 120
aYA—4A cpm
3-7 ERREER Im U Sv/h 0.17 0.13
a EREREE 1om 1 Sv/h 0.14 0.14
seim REAZEE 1cm cpm 120
aYA—4A cpm
3-7 ERREER 1m U Sv/h 0.18 0.14
b ERREER 1om 1 Sv/h 0.14 0.12
e REAZEE 1cm cpm 120
aYA—4A cpm
3-8 ERREER 1m 1 Sv/h 0.13 0.14
a ZEREREER 1om 1 Sv/h 0.17 0.16
- REZE 1cm cpm 150
= ) A4 cpm
3-8 ERREER 1m L Sv/h 0.17 0.16
b ZEREREE 1om 1 Sv/h 0.14 0.14
1 FEZEE 1cm cpm 200
= aYA—42 cpm
3-9 ERREER 1m 1 Sv/h 0.14 0.15
a ZEREREE 1om 1 Sv/h 0.16 0.16
. KEZE 1cm cpm 200
aYA—42 cpm
3-9 ERREER 1m 1 Sv/h 0.18 0.22
b ZERREE 1om 1 Sv/h 0.15 017
. KEZE 1cm cpm 250
aYA—42 cpm
3-10 ERREER Im U Sv/h 0.14 0.14
a ZEREREER 1om 1 Sv/h 0.16 0.18
PETO) KEAZEE 1cm cpm 500
aYA—42 cpm
3-10 ERREER 1m U Sv/h 0.14 0.14
b EREREE 1om 1 Sv/h 0.14 0.16
PETO) REAZEE 1cm cpm 300
aYA—42 cpm
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WEET R WET—2 @ KTE3ME

RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

AT &30
SRS AR SRl % Bify BT BRsts &=
3-11 ERREER Im 1 Sv/h 0.14 0.14
a ERREE 1om 1 Sv/h 0.14 0.15
He= REEE 1cm cpm 250
aYA—4A cpm
3-11 ERREER Im U Sv/h 0.12 0.17
b EREREE 1om 1 Sv/h 0.12 0.13
H= KREFEE lcm cpm 200
aYA—4A cpm
3-12 ERREER 1m U Sv/h 0.15 0.15
a EREREER 1om 1 Sv/h 0.14 0.16
e ﬁﬁ%}fi 1cm cpm 220
Oy A— cpm
3-13 ERREE Im 1 Sv/h 0.25 0.15
a ZERREE 1om 1 Sv/h 0.15 017
BT ﬁﬁ%}fi 1cm cpm 250
Oy A— cpm
3-14 ERREER 1m 1 Sv/h 0.14 0.14
a ERREE 1om 1 Sv/h 0.16 0.15
BT ﬁﬁ%}fi 1cm cpm 200
Oy A— cpm
3-15 ERREER 1m U Sv/h 0.14 0.13
a ZEREREER 1om 1 Sv/h 0.14 0.15
B KEZE 1cm cpm 200
aYrA—4 cpm 120 110
3-16 ERREER Im U Sv/h 0.15 0.13
a ZEREREE 1om 1 Sv/h 0.14 0.13
BF KEZE 1cm cpm 180
aYA—42 cpm
3-17 ZERIREER 1m 1 Sv/h 0.19 0.15
a ZEREREER 1om 1 Sv/h 0.17 0.15
BT ﬁﬁ%}fi 1cm cpm 300
Oy A— cpm
3-18 ERREER Im 1 Sv/h 0.20 0.18
a ZEREREE 1om 1 Sv/h 0.21 0.16
RS54 KEZE 1cm cpm 550
aYA—42 cpm
3-19 ERREER Im U Sv/h 0.21 0.20
a ZEREREE 1om 1 Sv/h 0.19 017
RS54 KEZE 1cm cpm 550
aYA—42 cpm
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RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

AT &30
SRS AR SRl % Bify BT BRsts HE
3-20 ERREER Im 1 Sv/h 0.18 0.17
a ERREE 1om 1 Sv/h 0.86 0.13
RSV REAZEE 1cm cpm 1200
(BE7kO) 1 A—4 opm
3-21 ERREER Im U Sv/h 0.19 0.17
a EREREER 1om 1 Sv/h 0.16 0.15
RS54 KREZE 1cm cpm 250
aYA—4A cpm
3-22 ERREER 1m U Sv/h 0.18 0.18
a EREREER 1om 1 Sv/h 0.15 0.15
RS54 KREZE 1cm cpm 300
aYA—4A cpm
3-23 ERREE Im 1 Sv/h 0.17 0.16
a ZERREE 1om 1 Sv/h 0.18 0.15
RS54 KEZE 1cm cpm 400
aYA—4A cpm
3-24 ERREER 1m 1 Sv/h 0.16 0.15
a ERREE 1om 1 Sv/h 0.15 0.14
RS54 REAZEE 1cm cpm 350
aYA—4A cpm
3-25 ERREER 1m U Sv/h 0.18 0.17
a ZEREREER 1om 1 Sv/h 0.17 0.15
RSUE FEEE 1cm cpm 400
aYA—42 cpm
3-26 ERREER Im U Sv/h 0.18 0.17
a ZEREREE 1om 1 Sv/h 0.17 0.14
RS54 KEAZEE 1cm cpm 500
aYA—42 cpm
3-27 ERREER Im 1 Sv/h 0.19 0.17
a ZEREREER 1om 1 Sv/h 0.17 0.15
RS54 KEAZEE 1cm cpm 400
aYA—42 cpm
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WEE KRG WET—2 ©® KXTEEEL

RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

A TEEL
SRS AR SRl % Bify BT BRsts HE
4-1 ERREER 1m 1 Sv/h 0.21 0.19
a ZEREREE 1om 1 Sv/h 0.17 0.18
REAZEE 1cm cpm 220
aYA—4A cpm
4-2 ERREER 1m U Sv/h 0.20 0.20
a EREREE 1om 1 Sv/h 0.18 0.21
REAZEE 1cm cpm 280
aYA—4A cpm
4-3 EREBREE 1m  HIF. Q.6 0.18
a EREREER 1om 1 Sv/h 0.16 0.15
RKEAZEE 1cm cpm 250
aYA—4A cpm
4-4 ERREER 1m U Sv/h 0.19 0.19
a EREREE 1om 1 Sv/h 0.16 0.16
REZE 1cm cpm 150
aYA—4A cpm
4-5 ERREER 1m U Sv/h 0.17 0.17
a EREREE 1om 1 Sv/h 0.15 0.16
REAZEE 1cm cpm 220
aYA—4A cpm
4-6 ERREER Im U Sv/h 0.19 0.18
a ZEREREE 1om 1 Sv/h 0.18 017
REAZEE 1cm cpm 200
aYA—4A cpm
4-7 ERREER 1m U Sv/h 0.19 0.18
a ZERREER 1om 1 Sv/h 0.15 0.16
REAZEE 1cm cpm 220
aYA—4A cpm
4-8 ERREER 1m 1 Sv/h 0.32 0.25
a ZERREER 1om 1 Sv/h 0.24 0.20
RKEAZEE 1cm cpm 220
aYA—42 cpm
4-9 ERREER 1m 1 Sv/h 0.21 0.20
a ERREE 1om 1 Sv/h 0.16 0.20
RKEAZEE 1cm cpm 250
aYA—42 cpm
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WEET RS WET—2 © RTEIRE

RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

RT&10
SRS AR SRl % Bify BT BRsts HE
H1-1 ERREER Im 1 Sv/h 0.17 0.16
a EREREE 1om 1 Sv/h 0.18 0.18
PETO) RKEAZEE 1cm cpm 350
aYA—4A cpm
H1-2 ERREER 1m 1 Sv/h 0.20 0.17
a ZEREREE 1om 1 Sv/h 0.18 0.15
BH=E REZEE lcm cpm 110
aYrA—4 cpm 150 140
H1-2 THHFEE Im RIE.D.® 0.31
b(B1) ZEERESE 1cm 1 Sv/h 0.22 0.18
BHE REZEE 1cm cpm 150
aYArA—4 cpm 150 80
H1-2 ERREE 1m 1 Sv/h 0.31 0.30
b(B2) ZEEIREZE 1cm U Sv/h 0.17 0.18
BHEE REZEE 1cm cpm 170
aYrA—4 cpm 150 140
H1-3 ERREER 1m 1 Sv/h 0.27 0.28
a EREREE 1om 1 Sv/h 0.18 0.19
- KREZE 1cm cpm 150
aYA—4A cpm
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WEE KRG WET—2 @ RTE2H

RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

RITS20
SRS AR SRl % Bify BT BRsts HE
H2-1 ERREER Im 1 Sv/h 0.14 0.12
a EREREE 1om 1 Sv/h 0.14 0.11
25 (1) KREZE 1cm cpm 140
aYA—4A cpm
H2-2 ERREER 1m 1 Sv/h 0.12 0.12
a ZEREREE 1om 1 Sv/h 0.13 0.12
25 (2) KEZE 1cm cpm 110
aYA—4A cpm
H2-3 EREBREE 1m  HIF. Q.6 0.14
a EREREER 1om 1 Sv/h 0.12 0.12
25 (3) RKEAZEE 1cm cpm 120
) A4 cpm 70 70
H2-4 ERREER 1m U Sv/h 0.14 0.13
a EREREE 1om 1 Sv/h 0.11 0.11
25 (4) KREZE 1cm cpm 110
aYA—4A cpm
H2-5 ERREER 1m 1 Sv/h 0.14 0.12
a EREREE 1om 1 Sv/h 0.12 0.11
25 (5) KREZE 1cm cpm 110
aYA—4A cpm
H2-6 ERIREER Im 1 Sv/h 0.22 0.16
a ZEREREE 1om 1 Sv/h 0.16 0.14
25 (6) REAZEE 1cm cpm 130
aYA—4A cpm
H2-7 ERREER Im U Sv/h 0.17 0.18
a ZERREER 1om 1 Sv/h 0.15 0.13
25 (7) REAZEE 1cm cpm 110
aYA—4A cpm
H2-8 ERREER Im L Sv/h 0.13 0.12
a ZERREER 1om 1 Sv/h 0.11 0.11
25 (8) RKEAZEE 1cm cpm 90
aYA—42 cpm
H2-9 ERIREER 1m U Sv/h 0.12 0.12
a ERREE 1om 1 Sv/h 0.09 0.11
25 (9) KEZE 1cm cpm 90
aYA—42 cpm
H2-10 ERREER Im U Sv/h 0.19 0.17
a ERREE 1om 1 Sv/h 0.13 0.14
=255 (10) KEZE 1cm cpm 100
) A—4 cpm 80 45
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WEE KRG WET—2 @ RTE2H

RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

RITS20
SRS AR SRl % Bify BT BRsts &=
H2-11 ERREER Im 1 Sv/h 0.25 0.26
a ZERREE 1om 1 Sv/h 0.15 0.18
B KREZE 1cm cpm 130
Oy A—~A cpm
H2-12 ERREER 1m 1 Sv/h 0.12 0.13
a EREREE 1om 1 Sv/h 0.12 0.12
B KEZE 1cm cpm 90
) A4 cpm 70 95
H2-13 ERREER 1m 1 Sv/h 0.26 0.20
a EREREE 1om 1 Sv/h 0.20 0.18
EUET KREZE 1cm cpm 140
aYYyA—~A cpm
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WRETRE AET—4 RT&EEL

RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

RT&EL
SRS AR SRl % Bify BT BRsts &=
H3-1 ERREER Im 1 Sv/h 0.39 0.33
b ZEREREE 1om 1 Sv/h 0.27 0.29
18l REAZEE 1cm k-cpm 0.55
aYA—4A cpm
H3-1 ERREER 1m 1 Sv/h 0.35 0.28
a ZEREREE 1om 1 Sv/h 0.39 0.27
B TRAST [FREE lom | koo 035
aYA—4A cpm
H3-2 ERHER 1m  HIE. 2.0 0.35
a EREREER 1om 1 Sv/h 0.45 0.31
AU BT AN 2 REZE 1cm k-cpm 1.02
aYA—4A cpm
H3-3 ERREER 1m U Sv/h 0.35 0.29
a EREREE 1om 1 Sv/h 0.42 0.26
AW BT AN 3 REZE 1cm k-cpm 1.06
aYA—4A cpm
H3-4 ERREER 1m 1 Sv/h 0.38 0.33
a EREREE 1om 1 Sv/h 0.33 0.30
B TRA S [FREE lom | koo 045
aYA—4A cpm
TRIBEE 1m uSv/h
ZEEREZR 1cm 1 Sv/h 0.87 0.39
RfIEKO EYER|REEE lom k:cpm
TRIAS1 1 A—4 cpm
TRIBEE 1m uSv/h
ZEHERESE 1cm 1 Sv/h 9.8 0.35
RAIHEkO EYE|REEE lom k:cpm 275
TRING2 1 A—4 cpm
TRIBEE 1m uSv/h
ZEERESE 1cm 1 Sv/h 4.4 0.43
RAIHEkO EYE|REEE lom k:cpm 27
THRINSS3 1 A—4 cpm
TRIBEE 1m uSv/h
ZEEREZE 1cm 1 Sv/h 5.0 1.19
kO EYE|REEE lom k:cpm 27
THRING4 1 A—4 cpm
TRIBEE 1m uSv/h
ZEERESE 1om 1 Sv/h 0.9 0.54
RBIEKO EYER|REEE lom k-cpm 255
TIN5 1 A—4 cpm
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RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

RT&EL
SRS AR SRl % Bify BT BRsts HE
TRIBEE 1m uSv/h
ZEEREZE 1cm 1 Sv/h 10.0 0.34
kO EYE|REEE lom k:cpm 13.5
THRINS6 1) A—4 opm
TRIBEE 1m uSv/h
ZEEREZE 1om 1 Sv/h 2.2 0.31
R T K O KEZE 1cm k-cpm 11.6
aYA—4A cpm
TRIBEE 1m uSv/h
ZEERESE 1om 1 Sv/h 2.0 0.40
EYERTRIT7IY |REZE lcm k:cpm 1.06
<k aYA—4A cpm
H3-2 ERIREER 1m 1 Sv/h 0.64 0.41
b ZEREREER 1om 1 Sv/h 1.08 0.36
mEEEY DRSS lom | koo 125
aYA—4A cpm
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RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

A&
EHRIS AT TR & B B i MRtk "=

G-1 ERIREER Im 1 Sv/h 0.50 0.28
TREE=EEE 1cm 1 Sv/h

) KREZE 1cm cpm 300
aYA—4A cpm

G-2 ERREER 1m 1 Sv/h 0.33 0.27
TREE=EEE 1cm 1 Sv/h

) KREZE 1cm cpm 500
aYA—4A cpm

G-3 EREBRER 1m  HIF. Q.6 0.43
TREE=EEE 1cm U Sv/h

18l KEZE 1cm cpm 400
aYA—4A cpm

G-4 ERREER 1m 1 Sv/h 0.31 0.31
TREE=EE 1cm 1 Sv/h

181 KREZE 1cm cpm 250
aYA—4A cpm

G-5 ERREER 1m 1 Sv/h 0.43 0.23
TREEEEE 1cm 1 Sv/h

18l KREZE 1cm cpm 180
aYA—4A cpm

G-6 ERREER 1m 1 Sv/h 0.30 0.24
TREE=EE 1cm 1 Sv/h

Bl KREZE 1cm cpm 240
aYA—4A cpm

G-7 ERREER 1m 1 Sv/h 0.19 0.27
TEE=EEE 1cm 1 Sv/h

7 KEZE 1cm cpm 180
aYA—4A cpm

G-8 ERREER Im 1 Sv/h 0.35 0.24
TREE=EEE 1cm uSv/h

=l KEZE 1cm cpm 290
aYA—42 cpm

G-9 ERREER Im 1 Sv/h 0.40 0.24
TEEEE 1cm 1 Sv/h

=l KEZE 1cm cpm 250
aYA—42 cpm

G-10 ERREER 1m U Sv/h 0.34 0.24
TREEEEE 1cm 1 Sv/h

=l KEZE 1cm cpm 200
aYA—42 cpm
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RIZEH] 20124115238 -288 (BREEAI) / 20125128158 (BR#E&)

RIT&E5 8
FHAIS AT FHAIA & B [ZE 3] PRtk #E

G-11 ZRHREE Im ¢ Sv/h 0.27 0.23
TREE=EEE 1cm uSv/h

7 REAZEE 1cm cpm 260
A=A cpm

G-12 ZERHMEE Im ¢ Sv/h 0.45 0.29
TREEEEE 1cm 1 Sv/h

7 REAZEE 1cm cpm 230
aYA—4A cpm

G-13 ZERHREE Im ¢ Sv/h 0.31 0.25
TREE=EEE 1cm 1 Sv/h

181 RKEAZEE 1cm cpm 270
aYA—4A cpm

G-14 ZERREE Im ¢ Sv/h 0.50 0.35
TREE=EEE 1cm 1 Sv/h

181 REAZEE 1cm cpm 330
aYA—4A cpm

G-15 ZERHREE Im ¢ Sv/h 0.50 0.41
TREEEEE 1cm 1 Sv/h

=) REZEE 1cm cpm 300
aYA—42 cpm

G-16 ZRREE Im U Sv/h 0.53 0.46
TEE=EEE 1cm 1 Sv/h

=) RKEAZEE 1cm cpm 340
aYA—42 cpm

G-17 ZERHREE Im U Sv/h 0.63 0.52
TREE=EEE 1cm 1 Sv/h

=l REZEE 1cm cpm 290
aYA—42 cpm

G-18 ZERHMEE 1m ¢ Sv/h 0.56 0.58
TEE=EE 1cm 1 Sv/h

=l REZEE 1cm cpm 300
aYA—42 cpm
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